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Summary questions

g=98ms?

1 @A steel spring has a spring constant of 25N m ™. Calculate:

a_ the extension of the spring when the tension nitis equal 0 10N
b the tension In the spring when it i3 cxtanded by 0 50 m from it
unstretched length.

2 @ Twoidenticalsteelsprings ofength 250 mm are suspended verticall

e by sice rom a ixed point, A 40N iight s attached o the encs of
the two springs, The length of each springs then 350 mm. Calculate:
a thetension in each spring
b the extension of each spring
¢ the spring constant of each spring.

3 @@ Repeat 2aand b for the two springs in series and vertical.

4 (@ An object of mass 0,150 kgis atached tothe lower end of vertical
spring of unstretched length 300 mm, which is fixed at ts upper end.
With the object at rest, the length of the spring becomes 420 mm 253
result. Calculate:

a the spring constant
b the energy storedin the spring
¢ the weight that needs tobe added o extend the spring to 600




